WOODEN TRAY



Wooden Tray Set of 2

MRSP: \$20

- Sample Price: \$9 each (Min. 1 unit) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total Details:
- Material: Hardwood
- Size: Set of 2
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Tray with Container Set

MRSP: \$45

- Sample Price: \$21 each (Min. 1 units) → \$21 total
- Bulk Price: \$21 each (Min. 500 units) → \$10,500 total

Details:

- Material: Sheesham Wood
- Size: Container Set of 3
- Design: Handcrafted
- Colors: Natural wood Tones



Wooden Serving Tray Set of 3

MRSP: \$90

- Sample Price: \$15 each (Min. 1 units) → \$15 total
- Bulk Price: \$15 each (Min. 500 units) → \$7500 total Details:
- Material: Sheesham Wood
- Size: Set of 3
- Design: Handcrafted
- Colors: Natural Wood Tones

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Serving Tray

MRSP: \$30

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- **Bulk Price:** \$9 each (Min. 500 units) → **\$4500 total**

Details:

- Material: Sheesham Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

WOODEN NAPKIN HOLDER



Wooden Napkin Holder

MRSP: \$25

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total Details:
- Material: Wood & Brass
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Napkin Holder

MRSP: \$25

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- **Bulk Price:** \$12 each (Min. 500 units) → **\$6000 total**

Details:

- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural wood Tones



Wooden Napkin Holder

MRSP: \$25

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total Details:
- Material: Sheesham Wood
- Size:
- Design: Handcrafted
- Colors: Natural wood Tones

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Napkin Holder

MRSP: \$25

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total

Details:Mate

- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural wood Tones

WOODEN BASKET



Wooden Basket with Handle

MRSP: \$30

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total Details:
- Material: Wood
- Size: 10 Inches
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Basket with Handle

MRSP: \$30

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total

Details:

- Material: Wood
- Size: 10 Inches
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Basket

MRSP: \$30

- Sample Price: \$15 each (Min. 1 units) → \$15 total
- Bulk Price: \$15 each (Min. 500 units) \rightarrow \$7500 total Details:
- Material: Wood
- Size: 12 Inches
- Design: Handcrafted
- Colors: Natural Wood Tones

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Basket with Jute Rope

MRSP: \$30

- Sample Price: \$15 each (Min. 1 units) \rightarrow \$15 total
- Bulk Price: \$15 each (Min. 500 units) → \$7500 total Details:
- Material: Wood
- Size: 12 Inches
- Design: Handcrafted
- Colors: Natural Wood Tones

WOODEN THELA SERVING TRAY



Wooden Thela Serving Tray

MRSP: \$20

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total Details:
- Material: Metal & Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Thela Serving Tray

MRSP: \$20

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total Details:

• Mai

- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural wood Tones



Wooden Thela Serving Tray

MRSP: \$20

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) \rightarrow \$4500 total Details:
- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural wood Tones

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Thela Serving Tray

MRSP: \$20

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total Details:
- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural wood Tones

WOODEN SPICE BOX





Wooden Spice Box Set with Spoon

MRSP: \$60

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total Details:
- Material: Sheesham Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones



MRSP: \$60

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total Details:
- Material: Sheesham Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Spice Box Set with Spoon

MRSP: \$60

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) \rightarrow \$6000 total Details:
- Material: Sheesham Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Spice Box Set with Spoon

MRSP: \$60

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) \rightarrow \$6000 total

Details:

- Material: Sheesham Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

WOODEN HOME DECOR



Wooden Sailing Ship Showpiece

MRSP: \$30

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total Details:
- Material: Wood
- Size: 4 Inch
- Design: Handcrafted
- Colors: Natural Wood Tones



Buddha Headface Statue Idol

MRSP: \$30

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) \rightarrow \$6000 total Details:
- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Sailing Ship Showpiece

MRSP: \$35

- Sample Price: \$15 each (Min. 1 units) → \$15 total
- Bulk Price: \$15 each (Min. 500 units) → \$7500 total Details:

Details

- Material: Wood
- Size: 20 Cm
- Design: Handcrafted
- Colors: Natural wood Tones



Wooden Tripod Floor Lamp

MRSP: \$70

- Sample Price: \$21 each (Min. 1 units) → \$21 total
- Bulk Price: \$21 each (Min. 500 units) → \$10,500 total

Details:

- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

Note: Minimum Order Quantity (MOQ) for samples is 10 Units, which will be a mix and match of products from Wooden Handicrafts Collection.

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.

WOODEN WALL SHELVES



Wooden Intersecting Wall Shelves

MRSP: \$80

- Sample Price: \$30 each (Min. 1 units) → \$30 total
- Bulk Price: \$30 each (Min. 500 units) → \$15000 total Details:
- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Intersecting Wall Shelves

MRSP: \$80

- Sample Price: \$30 each (Min. 1 units) → \$30 total
- Bulk Price: \$30 each (Min. 500 units) → \$15000 total

Details:

- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural wood Tones



Wooden Intersecting Wall Shelves

MRSP: \$80

- Sample Price: \$30 each (Min. 1 units) → \$30 total
- Bulk Price: \$30 each (Min. 500 units) \rightarrow \$15000 total Details:
- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Intersecting Wall Shelves

MRSP: \$80

- Sample Price: \$30 each (Min. 1 units) → \$30 total
- Bulk Price: \$30 each (Min. 500 units) → \$15000 total

Details:

- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

WOODEN CHOPPING BOARD





MRSP: \$25

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total Details:
- Material: Bamboo Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones



Round Wooden Kitchen Chopping Board

MRSP: \$30

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) \rightarrow \$6000 total Details:
- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

Wooden Kitchen Chopping Board

MRSP: \$25

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total Details:
- Material: Bamboo Wood
- Size:
- Design: Handcrafted
- Colors: Natural wood Tones



Wooden Kitchen Chopping Board

MRSP: \$25

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total

Details:

- Material: Sheesham Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

Note: Minimum Order Quantity (MOQ) for samples is 10 Units, which will be a mix and match of products from Wooden Handicrafts Collection.

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.

WOODEN BOWL



Wooden Container or Sugar Pot

MRSP: \$15

- Sample Price: \$3 each (Min. 1 units) → \$3 total
- Bulk Price: \$3 each (Min. 500 units) → \$1500 total
- **Details:** Material: Wood •
- ٠ Size:
- •
- Design: Handcrafted Colors: Natural Wood Tones •



Wooden Classic Snack Bowls (Set of 6)

MRSP: \$35

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total • **Details:**
- .
- Material: Wood Size: 4 Inch
- Design: Handcrafted •
- Colors: Natural wood Tones



Wooden Serving Bowl

MRSP: \$15

- Sample Price: \$3 each (Min. 1 units) → \$3 total
- Bulk Price: \$3 each (Min. 500 units) → \$1500 total **Details:**
- Material: Wood ٠
- Size: ٠
- Design: Handcrafted •
- Colors: Natural Wood Tones ٠

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Multipurpose Serving Bowl

MRSP: \$150

- Sample Price: \$30 each (Min. 1 units) → \$30 total
- Bulk Price: \$30 each (Min. 500 units) → \$15000 total ٠

Details: ٠

- Material: Wood Size: Set of 4 Bowls (4, 5, 6,7 Inches) ٠
- Design: Handcrafted •
- Colors: Natural Wood Tones

WOODEN SPOON OR PEN HOLDER



Wooden Pen Holder With Clock

MRSP: \$25

- Sample Price: \$6 each (Min. 1 units) → \$6 total
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total Details:
- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Pen Holder

MRSP: \$20

- Sample Price: \$3 each (Min. 1 units) → \$3 total
- Bulk Price: \$3 each (Min. 500 units) → \$1500 total Details:
- Material: Sheesham Wood
- Size:
- Design: Handcrafted
- Colors: Natural wood Tones



Wooden Pen Holder With Drawer

MRSP: \$30

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) \rightarrow \$4500 total Details:
- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Pen And Mobile Stand

MRSP: \$30

- Sample Price: \$6 each (Min. 1 units) → \$6 total
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total

Details:

- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

WOODEN BOX





MRSP: \$25

- Sample Price: \$6 each (Min. 1 units) → \$6 total
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total **Details:**
- Material: Wood •
- Size: 7X5 Inches •
- Design: Handcrafted
- Colors: Natural Wood Tones •



Wooden Jewellery Box for Women

MRSP: \$30

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total •

Details:

- Material: Wood .
- Size:
- Design: Handcrafted
- Colors: Natural wood Tones



Designer Wooden Jewelry Box

MRSP: \$20

- Sample Price: \$3 each (Min. 1 units) → \$3 total
- Bulk Price: \$3 each (Min. 500 units) → \$1500 total **Details:**
- Material: Wood •
- Size: ٠
- Design: Handcrafted •
- Colors: Natural Wood Tones ٠

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Multipurpose Box

MRSP: \$25

- Sample Price: \$6 each (Min. 1 units) → \$6 total
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total • **Details:**

٠

- Material: Wood Size: •
- Design: Handcrafted ٠
- Colors: Natural Wood Tones

WOODEN AGARBATTI STAND



Wooden Agarbatti Stand

MRSP: \$15

- Sample Price: \$3 each (Min. 1 units) → \$3 total
- Bulk Price: \$3 each (Min. 500 units) → \$1500 total Details:
- Material: Wood & Brass
- Size: 10 Inches
- Design: Handcrafted
- Colors: Natural Wood Tones



Boat Shaped Wooden Agarbatti Stand

MRSP: \$15

- Sample Price: \$3 each (Min. 1 units) → \$3 total
- Bulk Price: \$3 each (Min. 500 units) → \$1500 total

Details:

- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural wood Tones



Wooden Agarbatti Stand

MRSP: \$15

- Sample Price: \$3 each (Min. 1 units) → \$3 total
- Bulk Price: \$3 each (Min. 500 units) \rightarrow \$1500 total Details:
- Material: Wood
- Size: 11X4 Inch
- Design: Handcrafted
- Colors: Natural Wood Tones

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Coin Shape Incense Holder

MRSP: \$10

- Sample Price: \$3 each (Min. 1 units) → \$3 total
- Bulk Price: \$3 each (Min. 500 units) → \$1500 total

Details:

- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

WOODEN KEY HANGER



Wooden Elephant Design Key Hanger

MRSP: \$15

- Sample Price: \$3 each (Min. 1 units) → \$3 total
- Bulk Price: \$3 each (Min. 500 units) → \$1500 total Details:
- Material: Sheesham Wood
- Size: 16 Inches
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Wheel Shaped Key Hanger

MRSP: \$20

- Sample Price: \$6 each (Min. 1 units) → \$6 total
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total Details:
- Material: Wood
- Size: Set of 3
- Design: Handcrafted
- Colors: Natural wood Tones



Wooden Key Hanger

MRSP: \$30

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) \rightarrow \$4500 total Details:
- Material: Sheesham Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Key Hanger

MRSP: \$50

- Sample Price: \$18 each (Min. 1 units) → \$18 total
- **Bulk Price:** \$18 each (Min. 500 units) → **\$9000 total**

Details:

- Material: Mango Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

WOODEN MORTAR AND PESTLE



Wooden Mortar & Pestle

MRSP: \$25

- Sample Price: \$5 each (Min. 1 units) \rightarrow \$5 total
- Bulk Price: \$5 each (Min. 500 units) → \$2500 total
- Details:
- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Mortar & Pestle

MRSP: \$30

- Sample Price: \$6 each (Min. 1 units) → \$6 total
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total Details:
- Material: Sheesham Wood
- Size:
- Design: Handcrafted
- Colors: Natural wood Tones



Wooden Mortar & Pestle

MRSP: \$30

- Sample Price: \$6 each (Min. 1 units) → \$6 total
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total Details:
- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Mortar & Pestle

MRSP: \$30

- Sample Price: \$6 each (Min. 1 units) → \$6 total
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total

Details:

- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

WOODEN WALKING STICK



Wooden Walking Stick

MRSP: \$40

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total **Details:**
- Material: Sheesham Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Walking Stick With Brass Eagle Handle

MRSP: \$50

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total **Details:**
- Material: Sheesham Wood .
- Size: 36 Inches
- Design: Handcrafted •
- Colors: Natural wood Tones



Wooden Walking Stick

MRSP: \$55

- Sample Price: \$15 each (Min. 1 units) → \$15 total
- Bulk Price: \$15 each (Min. 500 units) → \$7500 total **Details:**
- Material: Wood ٠
- Size: ٠
- Design: Handcrafted ٠
- Colors: Natural Wood Tones •

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Walking Stick

MRSP: \$40

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total • **Details:**

٠

- Material: Wood Size: •
- Design: Handcrafted ٠
- Colors: Natural Wood Tones

WOODEN SPATULAS



Wooden Non Stick Spoon

MRSP: \$30

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total **Details:**
- Material: Wood
- Size: Set of 6 •
- Design: Handcrafted •
- Colors: Natural Wood Tones •



Wooden Non Stick Spoon

MRSP: \$5

- Sample Price: \$3 each Spoon(Min. 1 units) → \$3 total
- Bulk Price: \$3 each Spoon (Min. 500 units) → \$1500 total • **Details:**

.

- Material: Wood
- Size:
- Design: Handcrafted Colors: Natural wood Tones



Wooden Cooking spoon

MRSP: \$5

- Sample Price: \$3 each Spoon (Min. 1 units) → \$3 total ٠
- Bulk Price: \$3 each Spoon(Min. 500 units) → \$1500 total **Details:**
- Material: Wood ٠
- Size: ٠
- Design: Handcrafted ٠
- Colors: Natural Wood Tones

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Cooking Spoon With Masher

MRSP: \$30

- Sample Price: \$6 each (Min. 1 units) → \$6 total ٠
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total ٠ **Details:**

Material: Wood ٠

- Size: Set of 6 •
- Design: Handcrafted •
- Colors: Natural Wood Tones

WOODEN MONEY BANK



Wooden Money Bank

MRSP: \$40

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total Details:
- Material: Wood
- Size: 8X5 Inches
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Money Bank (Water Tank Shape)

MRSP: \$30

- Sample Price: \$6 each (Min. 1 units) → \$6 total
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total Details:

Details:

- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural wood Tones



Cylindrical Wooden Money Bank

MRSP: \$35

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) \rightarrow \$4500 total Details:
- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Money Bank

MRSP: \$30

- Sample Price: \$6 each (Min. 1 units) → \$6 total
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total

Details:Mate

- Material: WoodSize:
- 5ize:
- Design: Handcrafted
- Colors: Natural Wood Tones

WOODEN ASHTRAY





MRSP: \$25

- Sample Price: \$6 each (Min. 10 units) → \$6 total
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total **Details:**
- Material: Wood
- Size: 3.7 X 3.7X 0.9 Inches .
- Design: Handcrafted •
- Colors: Natural Wood Tones •



Wooden Ashtray With Lid

MRSP: \$30

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total •

Details:

- Material: Wood .
- Size:
- Design: Handcrafted •
- Colors: Natural wood Tones



Wooden Ashtray With Cigarette Holder

MRSP: \$30

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total **Details:**
- Material: Wood ٠
- Size: 5X5 Inches ٠
- Design: Handcrafted ٠
- Colors: Natural Wood Tones •

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Ashtray With Cigarette Storage Case

MRSP: \$30

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total ٠ **Details:**

٠

- Material: Wood •
- Size: 4.5X2.5 Inches Design: Handcrafted •
- Colors: Natural Wood Tones

WOODEN TEA COASTER



Wooden Tea Coaster

MRSP: \$30

- Sample Price: \$6 each (Min. 1 units) → \$6 total
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total **Details:**
- Material: Wood •
- Size: Set of 6 •
- Design: Handcrafted •
- Colors: Natural Wood Tones •



Wooden Tea Coaster

MRSP: \$20

- Sample Price: \$6 each (Min. 1 units) → \$6 total
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total • Details:

- Material: Wood
- Size: Set of 6
- Design: Handcrafted
- Colors: Natural wood Tones



Wooden Tea Coaster

MRSP: \$30

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total **Details:**
- Material: Wood
- Size: Set of 6 ٠
- Design: Handcrafted ٠
- Colors: Natural Wood Tones ٠

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Tea Coaster

MRSP: \$30

- Sample Price: \$9 each (Min. 1 units) → \$9 total ٠
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total • **Details:**

- Material: Wood Size: Set of 6 ٠
- Design: Handcrafted
- Colors: Natural Wood Tones

WOODEN CANDLE HOLDER



Wooden Candle Holder With Side Bark

MRSP: \$30

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- Bulk Price: \$9 each (Min. 500 units) → \$4500 total Details:
- Material: Wood
- Size: Set of 3
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Candle Stand

MRSP: \$45

- Sample Price: \$15 each (Min. 1 units) → \$15 total
- Bulk Price: \$15 each (Min. 500 units) → \$7500 total Details:
- Material: Wood
- Size: Set of 3
- Design: Handcrafted
- Colors: Natural Wood Tones

Wooden Candle Holder

MRSP: \$45

- Sample Price: \$15 each (Min. 1 units) → \$15 total
- Bulk Price: \$15 each (Min. 500 units) → \$7500 total Details:
- Motor
- Material: Wood
- Size: Set of 3
- Design: Handcrafted
 Colore: Natural wood Tan
- Colors: Natural wood Tones



Wooden Candle Stand

MRSP: \$45

- Sample Price: \$15 each (Min. 1 units) → \$15 total
- Bulk Price: \$15 each (Min. 500 units) → \$7500 total

Details:

- Material: Wood
- Size: Set of 3
- Design: Handcrafted
- Colors: Natural Wood Tones

Note: Minimum Order Quantity (MOQ) for samples is 10 Units, which will be a mix and match of products from Wooden Handicrafts Collection.

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.

WOODEN SPECTACLES HOLDER





MRSP: \$30

- Sample Price: \$3 each (Min. 1 units) → \$3 total
- Bulk Price: \$3 each (Min. 500 units) → \$1500 total
- Details:
- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones



Wooden Nose Shaped Specs Holder

MRSP: \$30

- Sample Price: \$3 each (Min. 1 units) → \$3 total
- Bulk Price: \$3 each (Min. 500 units) → \$1500 total
- Details:
- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural wood Tones



Wooden Round Shaped Specs Holder

MRSP: \$30

- Sample Price: \$3 each (Min. 1 units) → \$3 total
- Bulk Price: \$3 each (Min. 500 units) \rightarrow \$1500 total Details:
- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Wooden Nud Shaped Specs Holder

MRSP: \$30

- Sample Price: \$3 each (Min. 1 units) → \$3 total
- Bulk Price: \$3 each (Min. 500 units) → \$1500 total

Details:

- Material: Wood
- Size:
- Design: Handcrafted
- Colors: Natural Wood Tones